
2N 121 (SILICON) 

PNP silicon annular transistor for high-frequency 
general-purpose amplifier applications. 

CASE 22 
(TO.18) 

Collector connected to case 

MAXIMUM RAilNGS 

Rating 

Collector-Emitter Voltage 

Collector-Emitter Voltage 

Collector - Base Voltage 

Emitter - Base Voltage 

Total Device Dissipation @ T A =25°C 

(Derate above 25DC) 

Total Device Dissipation @ TC",25°C 

Symbol 

VCEO 

VCER 

VCB 

VEB 

PD 

PD 
T =100°C C 

(Derate above 25°C) 

Operating & Stbrage Junction T JI Tstg 
Temperature Range 

2-83 

Value Unit 

35 Vdc 

50 Vdc 

50 Vdc 

5.0 Vdc 

0.40 Watts 

2.67 mW!OC 

1.5 Watts 

0.75 

10 mW/oC 

-65 to +200 DC 



2N721 (continued) 

ELECTRICAL CHARACTERISTICS cr. = 25'C ...... _ .. _ 

Characteristic Symbol Min Max Unit 

OFF CHARACTERISTICS 

Collector-Emitter Sustaining Voltage" BV CEO(sus>* Vde 

(Ic= 100 mAdc, IB = 0) 35 -
Collector-Emitter Sustaining Voltage" BV CER(suS)* Vde 

(IC = 100 mAde, RaE :; 100 ohms) 50 -
Collector-Base Breakdown Voltage BVCBO Vde 

(Ic = 100 /lAde, ~ = 0) 50 -
Collector Cutoff Current ICBO "Ade 

(VCB = 30 Vde, ~ = 0) - 1.0 

(VCB =30Vde, ~ =0, TA = 150· C) - 100 

Emitter Cutoff Current lEBO "Ade 

(VBE = 2. 0 Vde, IC = 0) - 100 

ON CHARACTERISTICS 

DC Current GaIn. hFE • 
(IC = 150 mAde, V CE = 10 Vde) 20 45 -
(IC = 5. 0 mAde, ,V CE = 10 Vde) 15 -

Collector-Emitter Saturation Voltage VCE(sat) Vde 

(IC = 150 mAde, Ia = 15 mAde) - 1.5 

Base-Emitter Saturation Voltage VBE(sst>. Vde 

(IC = 150 mAde, IB = 15 mAde) - 1.3 

SMALL SIGNAL CHARACTERISTICS 

Current-Gain - Bandwidth Product fT MHz 

(IC = 50 mAde,. V CE'= 10 Vde, f = 20 MHz) 50 -
Output Capacitance Cob pF 

(V CB =10 Vde, ~ = 0, f = 100 kHz) - 45 

Input Capacitance Clb pF 

(V BE = O. 5 Vde, IC = 0) - 100 

Input Impedance hlb ohms 

(IC =.1.0 mAde, V CB = 5.0 Vde, f = 1.0 kHz) 25 35 

(IC = 5. 0 mAde, V CB = 10 Vde, f = 1. 0 kHz) - 10 

. Voltage Feedback Ratio ~b 
(IC = 1. 0 mAde,' VCB = 5.0 Vde, f =1.0 kHz) - 8.0 Xl0-4 

(IC = 5.0 mAde, V CB = 10 Vde, f = 1.0 kHz) - 8.0 

Small Signal Current Gain lire 
(Ie = 1.0 mAde, V CE = 5.0 Vde, f = 1.0 kHz) 15 50 

(IC '= 5. o ,mAde, V CE = 10 Vde, f = 1.0 kHz) 20 -
Output Admittance hob "mhos 

(IC = 1. 0 mAde, V CB = 5.0 Vde, f = 1.0 kHz) - 1.0 

(IC = 5.0 mAde, V CB = 10 Vde,.f = 1.0 kHz) - 5.0 

• Pulse Test: Pulse Width = 300 "s; Duty Cycle = 1.0% 


